PROFESSIONAL EXAMINATION BOARD

Group-2(Sub Group -4) Labour Inspector and other equivalent post
Recruitment Test

7th January 2017, 02:00 PM
Topic:- General Science

1)
Question Stimulus :-

In a typical cell, the organelle Golgi bodies are found in the /WIIRFREF
PIRAPT H, 3TH Mool BT T oTd & H|

. Nucleus/q%l\?ﬁl

« Cytoplasm / SIfXeTEH

e Centrosome /dR®PII

« Mitochondria / ATSeI®I~3aT
Correct Answer :-Cytoplasm / SI&Ta
2)
Question Stimulus :-

The process in which heat is transferred from the hotter end of an iron rod to the colder end is called /dg m,

o g 31 W & A RY A 33 RY W SoAT1 SR g @ -
e Convection/Jdg+
« Radiation / fafevor
e Conduction /9l
« Evaporation / arofi®ur
Correct Answer :-Conduction / dTd-
3)
Question Stimulus :-

Modern tools attached to tractors to save labour & time are called / aﬂ | da= GHW 7 St 91 SR HY

e Hoe/ Pald
¢ Plough/gd

e Harrow /%ﬁ
e Cultivator / ®feedex



Correct Answer :-Cultivator / dfeeder
4)
Question Stimulus :-

Organisms such as Fungi & Bacteria are used to destroy weeds. Such biological

agents are called / $a9% 3R AT S il &1 TORT WIUGARY &) 97 B9 & ford forar Sirar 21
T Sy gew Feard § -

 Fungicides / $a&-IRI
« Bio weedicides / T4l dif$aTsSH
« Herbicides / &N
« Insecticides / ®ieATI
Correct Answer :-Bio weedicides / T4l ﬁﬁ.mga'\rr
5)
Question Stimulus :-
Loudness of sound does not depend on the / @< &I yg@dr R AR 78 =t
o Amplitude of vibration / U= &1 MTH
« Frequency of vibration / $U-TghI
« Area of the vibrating body / 9% ®T HU- HdT §3IT &
o Distance of the listener from the source of sound / €af< & Hid & YT B §'\Pf
Correct Answer :-Frequency of vibration /EFWIT{R-[
6)

Question Stimulus :-

Species that no longer exist anywhere on the earth are called / Yottt S 3 q?ﬂ Wﬁ 1| tﬁq@' T'Iﬁ%, Gﬂﬂﬁ'
PET a1 8

« Endangered species / QWU YSITfadi

« Endemic species / RITH® YSITfadai

« Vulnerable species / Hdga=Id UsITfaai

« Extinct species / faqu vy
Correct Answer :-Extinct species /ﬁﬁlﬂ PENTR]
7)

Question Stimulus :-



To put out fires caused by burning solid fuels like wood, paper, the most common

fire extinguisher used is /Fﬁ'ﬁ\ﬁ, Wﬁﬁﬂﬁﬁ%ﬁﬁ@?&ﬂﬂﬁﬂ?ﬁ%ﬁﬁ
SEHTA fHd ST aTem Jad "THT= SRRTAS 8

Water fire extinguisher / 5Td RRMAS

Dry powder fire extinguisher / &1 UI3sX A=A
Foam fire extinguisher/ ®¥ RRMAS
Carbon dioxide fire extinguisher/WEl‘s’GﬁH'\qﬁg KIVRIRED

Correct Answer :-Water fire extinguisher / 9@ IRRIA®
8)
Question Stimulus :-

Images that can be obtained on a screen are referred to as / 3 yfafds o WRe W= U foran s gaear %, 32
g9 R far s g

« Real images / aRdfa® ufafad

« Virtual images / 3THTH! ufdfad

e Inverted images / 3¢ Ufdfag

« Reflected images / Rafdd ufafas
Correct Answer :-Real images | aafa® ufafda
9)
Question Stimulus :-

In copper sulphate solution, the carriers of electricity are /ﬁWW%ﬁWﬁ,M%
qeDh ©

Protons / Wieiq
Electrons / SAae

Neutrons / &I

Ions / 3194

Correct Answer :-Ions / T4
10)
Question Stimulus :-

A spoon placed in a glass of water appears to be bent at the surface of water due to/

U ¥ Rrerg d @1 T O T U $ U8 R ST goiT {37 81 SHPT PIRUT§ -
« Reflection of light / YTRT T WRTddH

e Refraction of light / UPhIRI BT g



* Dispersion of light / UPIRI b1 gfveqor

« Internal reflection / 3fidi® WRIad-
Correct Answer :-Refraction of light / UHIRI dI 3T
11)

Question Stimulus :-

Identify the organism that does not have a circulatory system / 3 Sitg aﬁ q??lﬁ ﬁmﬁ qﬁ'\‘ﬁl'lff GE] qﬁﬁ?ﬂl
e Dog/Pdl
e Frog /ﬁ?._ﬁ?
e Human/HJH
e Hydra /gIS3I

Correct Answer :-Hydra / g5 Sl

12)

Question Stimulus :-

SMOG is a combination of / APERT, TS 8
Smoke & fog / §T 3R PIgX BT

Sulphur dioxide & Nitric oxide / TR SIZATFAZS 3R ATZEP 3iTFAES HT
Hydrogen Sulphide & Aerosol / BTSIo HGWISS 3R TR HT
Carbon di-oxide & water vapour / CaCT| ETE'GI'T?\"IEE 3T ST ATy P

Correct Answer :-Smoke & fog / §¥ R P BT
13)

Question Stimulus :-

Nodules with Nitrogen fixing Bacteria are found in the roots of / UfIPT & |y q'l?g@\_ﬂ:[ U1 EAC R GﬂﬂTUj
P osl & UE W &1

Wheat /ﬂ'ﬁz

Maize / DI

Paddy / YT

Peas / HXY
Correct Answer :-Peas / HcXY
14)

Question Stimulus :-



Food items such as cereals & pulses are generally preserved by drying under the Sun and this method is known as /

QTe] aEg ST S 3Tl SfR STl o AHTIa: Y & USRI H Y@y WRfard fovar srar 31 59 ffr #1 wga §

Pasteurization / TR RUT
Refrigeration / Wi+
Dehydration / fsieltaur

Boiling / Y+

Correct Answer :-Dehydration / ferstefte o
15)

Question Stimulus :-

In which one of the following is friction disadvantageous? / g # ¥ fra & afur g1 21
« Moving parts of a machine / 9219 & 9ad gu fe=ai &
e Walking on the road / 45% U ddHI
e Applying brakes to stop the vehicle / T8 B b+ & foI¢ AP T
e Writing on a paper with a pen / BT TR HaH gIRT for@n
Correct Answer :-Moving parts of a machine / A=< & 9dd g¢ foxal &
16)
Question Stimulus :-

The products formed when metal Zinc reacts with diluted Hydrochloric acid are / d-J@d E@ﬂﬁﬁ 3T &

a1y od i g siffehar wwar 8 9 fT Srel &1 76+ giaT @ -
Zinc Hydride & Water / 3@ g133158 ik w@

Zinc Oxide & Hydrogen Gas / f3i@ sifqTss 3R gIgSioH 19

Zinc Chloride & Hydrogen Gas / foi® &R1gS Gﬁ??ﬁ@ﬁ?ﬁﬁ

Zinc Chloride & Water / i Tﬁﬁ?lg%" 3R oI

Correct Answer :-Zinc Chloride & Hydrogen Gas / f%i® wRTsS aﬁva@vﬂﬁq

17)

Question Stimulus :-
Pick the INCORRECT statement / TTeTd h Y ﬂﬁl’E
Buildings in earthquake prone areas should have / ?ﬁq F IMTHT 1A i.%ﬁ :dl E'I:I'R?ﬁﬁ' -
e Lightweight materials used in construction / fRrafor & GWﬁ T TN @t S ilT%E
« Heavy materials used in construction/ fFa{or & 4 Il wawr &t it arfee



e Design suitable to withstand tremors / 3&:% @'ﬁﬁ' & m SUYdd %GTE

¢ Firefighting equipment made readily available / 3RMA USRI STHTHT A IUAH
CHEE) Y

Correct Answer :-Lightweight materials used in construction / fRrafor & ge) Il wa &Y s Iy
18)

Question Stimulus :-

The pressure exerted by liquid ___ . /SAGRIAU™AT AT A

Increases with depth / TgITs & HIY §¢ SITdT &

Decreases with depth /W%Wﬂﬂ?ﬁl‘m%

Does not change with depth / TgTS & ITY AE! Ieaidl @

Is different in different directions at the same depth / HHH 11'5'?T§ TR, 3T — 3T femman
T 3IeT- 3T TEdl &

Correct Answer :-Increases with depth/ TI?TI'S: & 1Y d¢ SITdT %
19)
Question Stimulus :-

Steel does not rust easily and is an alloy of / ST H T A S qﬁﬁ'ﬂ?ﬂ Gﬁ? dg DI ﬁf%ﬂﬂ %

Copper /dH

Mercury /URRq
Iron /@8
Aluminium /Q’ﬂ&lﬁ'ﬂ'ﬂ

Correct Answer :-Iron / ﬁilg

20)
Question Stimulus :-
Which one of the following minimizes Friction? / fadd ﬁq, WW AT S
e Use of wheels between surfaces / Yt & i ufgdl BT ITGRT
e Grooves in tyres / TTAR | @i
* Spikes in the soles of the shoes /\'rﬁaﬁl?ﬁﬁﬁﬁ
« Gravel spread on slippery road / TUURNT I8 WR IO HT TR
Correct Answer :-Use of wheels between surfaces / Y& & o ufgdl o1 SUaRT

21)



Question Stimulus :-

Which one of the following organisms would have maximum amount of pesticides if

a lake is found to be contaminated? / fFrufefaa sfial # A foraH, Sream=e! ) sifteaw wfn
Bt afe v sha dgiia g 2

« Big fish / 931 wofeal #

« Small fish/ BI<t #oferal d

e Birds /Ufardi &

« Zooplanktons / UTUM<wa®! &
Correct Answer :-Birds / uférai o
22)
Question Stimulus :-

The type of image formed on the Retina by the eye lens is / 9 A g7 ¥feq1 R {59 ave
3t yfafaa o1 f=mior geme

Erect & same size as the object / Hitft 3¥ a¥g & MHR & TTaR
Inverted & diminished / 3(eTRAT 3R TR

Erect & diminished / ?ﬁﬁﬁ Gﬁ? E'Iﬁl?f

Inverted & magnified / Srenefidf sk emafifa

Correct Answer :-Inverted & diminished / 3I¢N=IYf 3T ET@IH

23)
Question Stimulus :-

The smallest part of the moon that becomes visible to us is called / I~HI PT G BIeT U S 'Ea'el ﬁm‘é a_clT %
I BT ST 8

e Full moon /Euﬁ?
e New moon / Tdd%
e Crescent moon / ITUS%
e Half moon / 3%
Correct Answer :-Crescent moon / ITdd%

24)
Question Stimulus :-

How many minutes make 6 hours / foram firee firaes, 6 9¢ s91d g

e 120



e 180

e 360

e 3600
Correct Answer :-360
25)
Question Stimulus :-

Antibiotics are not effective against cold & flu as these are caused by / J&TH Gﬁ?ﬂﬁﬁ

tAaraifes aHifa e g w0l s76 e BT PRUT 3 -
« Bacteria / S&f¥an
e Fungi/ dded
e Viruses /dIIRY
« Protozoa /WISl 3
Correct Answer :-Viruses / dIaRyd

Topic:- General Hindi
1)

Question Stimulus :-
TAGRT=" & U -
- @
- gU
. Q@
. T
Correct Answer :-aq
2)
Question Stimulus :-
&1 gf~rar &1 9 Ig geTar &1 3 B-
o HAGS g
o A 3T Bl ST
o FIRA g ST
o 99 @E A ufad g
Correct Answer ;-89 @8 & Ufad g1

3)



Question Stimulus :-
o w9 oI g1 7 81 & e Suga te g §
o ffgdia
. AT
. AN
. IUfAg
Correct Answer :-3ffgeitg
4)
Question Stimulus :-
IR Bt = A Y I}
o THE TS A YT | feeR o1 arex fera faa
« R GRT AT AT A frvTeer @1 aTes Frera fear
o« TP AP A YT gRT favTueR 3t argx Hrera fea
o Jfor & fAueR & a1eR fora fear aea arfae + |
Correct Answer :-GRT GRT HHTH ATFA® = fAICeR I a1 fAwra fean|
S)
Question Stimulus :-
forar & qegew W vEafe
. ISR
o daeaa
o YW Wl
. IRTET
Correct Answer :-ITSTHGH
6)
Question Stimulus :-
= A @ gayfir o arihe faue gt
o g Pt YA
- g5 & fawyfa
« &P Y



o SUYH FIS TE
Correct Answer :-J& & forg ‘ﬁ[&[
7
Question Stimulus :-
BRS P e Vg &
e O:
e 3fI6
e {Id
o At
Correct Answer :-3Td
8)
Question Stimulus :-
“ITel-37d VST o} Ferd § TS Y@ifrd Weg A P | T F
o 3redt HTg qHTH
o TSY JHTH
- Fgslify aA
s HHYRY AT
Correct Answer :-3[S0dt HTG JHTH
9)
Question Stimulus :-
TREARIYT PT WY fde 3-
o TRATA-+IRTYA
o HRGAH+IMRTYA
A+ SRTEAT
o [XGIA+3RTYAT

Correct Answer :-I¥d+3MRTY

10)

Question Stimulus :-

e T G frda 2-



g+3f

° ﬁg:+3|"_d

b3
o U+
Correct Answer :-gq+3(~
11)
Question Stimulus :-
UeH I P} A Y aTR 82
o ¥ T wrer 9 ArEdn
o o W 9T BT W e
o ¥ wTen argdT § T 91 6 |
o ¥ TgdT § T Wrer A & |
Correct Answer :-8 T 917 &1 @@ 91841 g
12)
Question Stimulus :-
e &} <hegae o1 amafie faug gfe
o Sitg9 4 gad
. Sftgq 3 gaa
o o gRT g
. S
Correct Answer :-Sifa-T & o
13)

Question Stimulus :-

ST®’ BT Ygiaar 8-

Correct Answer :-d¢HRY



14)
Question Stimulus :-
AT W F g wet wiY fs
. Hd+TH
o Afd + T
. Tt + ¥
e Ud+UH
Correct Answer :-Hd + &g
15)
Question Stimulus :-
IRED | IUT-
. 3
. 30
. 3
¢ AW
Correct Answer :-3[0%
16)
Question Stimulus :-
WA BB A LE a7
o ST A MU FH PR W B
o 39 faY oMy FuT HTH PR W@ &
e MU HTH PIIQE TG | |
o 3 fo1 & o1 B B R € el
Correct Answer :-3 f&=I1 3T T HTH W §
17)
Question Stimulus :-
<3G T geray &1 =1 & 4 &1 a1 ordf gl 32
o PIY DA

o YHBIAT



o SRIRT BT
o YU BIAT

Correct Answer :-3p1¢ ST

18)

Question Stimulus :-

e el TRBRY STt § U= U1 1 5T 7 SR IADT Hiut fbdt 3=y 3iifteey d Wil o ¥E ¢ ot 39 Bodl &
o TRUITUA
o G UA
o ufaffy
o Hftdga =

Correct Answer :-Hfafey

19)

Question Stimulus :-

T T 82

. Jd I

Correct Answer :-TeGi <l
20)

Question Stimulus :-

R wrafay a1 RAURT BT 98 ST &t 3= srefie &1 S aret SRl 31 AR @, s s

o Sfferaer

o Jfehers

o Y

o 3R
Correct Answer :-3&r®
21)

Question Stimulus :-



i, gore 94T ust onfe g 7 9 frg & vafaari s & 2

Correct Answer :-HHA
22)
Question Stimulus :-
TR’ e § UGFd i BT TG Biford
o WX Y
o faef wfy
e TTHAPE TN
Correct Answer :-faaf 3if¥r
23)
Question Stimulus :-
HTUR d& Td w31 3fe # ugad g areit HreT
o dP-TP! gl
o PRI TR PR Frated &
o arforoue fEdt
Correct Answer :-aTfoToue® fgdt
24)
Question Stimulus :-
3t fpeit ST B 1 faRyor @
« TuraTe faRwor
o Fif¥a S=Tara® faRor
o ff3a uftmmomaras fasiyor
o Hbaards fa=gor

Heardt gl



Correct Answer :-Ff3a ufvaToraras fa=ivor
25)
Question Stimulus :-
FadY s aTgea 188 2
o HIYT 3BT
o YT BT
o 3T TR
« TGS EA
Correct Answer :-HTYT cHT

Topic:- General Mathematics

1))

Question Stimulus :-

mx--2x+4=0and x* -4x+n="0have common root 3. Thenn - m =
/mx?-2x+4=07Tgx? —4K+n=0ﬁﬁmﬂﬂﬁ 3%I ddn-m=

25

Correct Answer :- 9

2)
Question Stimulus :-

If360=2a%x b’ x c. where a, b and c are primes, then the sum of 'a' and

b’ is.-'?ﬂﬁ?rﬁﬂ=a3xb:xc=3lﬁ$azbﬁc3{ﬁa_ﬂ'§,ﬂaLETUE:%:?JIT:‘T

6:

e 7



e 5

e 8
Correct Answer :-5
3)
Question Stimulus :-

The difference of the sum and the product of zeros of the polynomial

f(x) = 5x3 + 12x2 - 11x + 4 is / TGUG (x) = 5x3 + 12x2 - 11x + 4 & N & TUFGT 3R T T 3R 3

—8
o ¥
11
[ ]
1.2
5
[ ]
—11
e 3
—8
5

Correct Answer :-
4)
Question Stimulus :-

The polvnomials p(x) = x* + 2x* 4x +a and q(x) = x* + ax? -2x - 8 leave
theremainders Rjand Rz respectively when divided by (x - 2). If2R;-

Fz=E8 then'a' = J"EE'QETP(X}=K:‘+EXE 4x+aUd qx)=x +ax’ -
2x-8 & A9 (x-2) ¥ RFafaa B oar a9 Ausd HH
RiTGR: Ud BT 61 I7G 2R -Re=8,a@F a' =

e 8

e 12

e 6

e 4
Correct Answer :-6
5)

Question Stimulus :-



If the vertices of triangle ABC are A(1, - 4), B3, 2) and C(-1, 2), then the length of the altitude
thmug%hAis /af& ABC @I & B9 A(1, - 4), B3, 2) Td C(-1, 2) &, 99 A gRT 99 2 &g &1

8cm/8@1ﬂ

—

2415 cm/ 2415 THT

6cm/6@1ﬁ

\."ﬁ cm/ \."ﬁ Eepig

Correct Answer :-6 cm/ 6 ﬁ'lﬂ
6)
Question Stimulus :-

A letter is chosen at random from the letters of the word 'DISTRIBUTION'. What is the probability of
getting a letter other than T./ RMe 'DISTRIBUTION' ¥ grefoear 3 UD &R AT SITdT %I T®
ST 3= &R UTCd g B Ui ar o1 82

o 11/12

e 5/6

e 1/6

e 1/4
Correct Answer :-5/6
7)

Question Stimulus :-

The total surface area of a hollow metal cvlinder, open at the both the
ends of external radius 6cm and height 8cm. is 200mem?. The thickness

of the metal in the cylinder is / Uch @A 1d & Jdold Rl hel Tﬁ_@l?'il'
&TAhel 2008 §, ST gt helRT W WerdT o, Saeh! a1ed o1 6
A T S 8 S Ao F g Ay A

3em /3 9HI

5cm/5@'5ﬁ

4em / 4T

2em / 2 JHY

Correct Answer :-2cm /2 ﬁ'l:ﬁ



8)

Question Stimulus :-

= ' ' 4
Express with rational denominator. 1—524_1:._ i ANHT

a
vda*+ Bt + b

B & AT g9 i

Vaag? + b?
. b*

Vvaag2+ b2 -b

2a®*+b

4a%(2a-b)
Vag? 4+ b2 -h
Correct Answer :-
9)
Question Stimulus :-

In a single throw of two dice, the probability of gettmg 12 as a product is / EZT Uig & Udhd U@;‘]'q 'el
UG & &4 12 YTW g4 Bt

1
, 9

1
. 18
. 12

1
. 6

Correct Answer :- 2
10)

Question Stimulus :-



PQRS s a trapezium in which PQ || RS. M and N are the midpoints of
PS and QR respectively. If BES = 6cm and MN =9%cm_ then PQ = /

PQRS Vs OHdd & HG& PQ || RSEI MTaN #ArPSTIQR &
AeAfag ol ARG RS =6 T MN =9 ofT &, dg PQ =

e 14cm /14 9G¥

e 8cm/8 TqH

e 12cm /12 GHI

e 1lcm /11 9t
Correct Answer :-12cm / 12 '\Q'lﬂ
11)
Question Stimulus :-

The coordinates of the centroid of a triangle, whose vertices are (5, 3),(-7,-10), (2,7), are / Y

B, o =il (5, 3), - 7,-10, 2, D §, ¥ HEd BT FIEP &
e (1,2)
* (0,0
 (0,1)
(1,0
Correct Answer :-(0, 0)
12)
Question Stimulus :-

If f(x) = 2x3 - 4x% + 2 is divided by g(x) = x - x - 1, then the degree of the remainder is / Gf¢ f(x) = 2x3 - 4x2 + 2

ﬁg(x) =x2-x- 1ﬁﬁ1niﬁaﬁ?mm,a‘1ﬁwaﬂ%3ﬁ%

Less than 2 /2 ﬁm

Less than3/3 ﬁﬂ?‘q

Lessthan1/1 QW

Equal to 1/1 % SRT&R

Correct Answer :-Less than 2 /2 @' DH
13)
Question Stimulus :-

If 3x sind2? = cos48" then x =/ TTE 3x sind2% = cos48? Ad x =



| =

L |

1
Correct Answer :- 3
14)
Question Stimulus :-

A two digit number is obtained by, multiplying the sum of its digits by 8 and subtracting 4 or multiplying the
difference of the digits by 17 and adding 1 to it. Find the digit in ten's place. / U 3l 31 B "= 3’3[, 3?%7
3] & TRT BT 8 A UM HR ITH 4 U131 T 130D 3] & 3R P 17 T UM HI 394 1 WIS 3 A U Bt
ST 81 TBAT P 8IS 3P B JId B

o 2

e 6

3

5
Correct Answer :-5
15)
Question Stimulus :-

Find the angle of elevation of the top of the tower if the distance
between the observer and the foot of the tower is V3 times the height of

the tower, /| 21aT & aﬁ&wmﬂmmﬁ, Il'ﬁ"?&‘FFE_nF
T & ad f gl suF ofiy Fr V3 T

o

* 45

o

e 60

o

e 30

e 90°
Correct Answer :-30°

16)

Question Stimulus :-



The volume of a cone of height 7em and slant height 10cm is / Tp P C 4| G;\"_'cl'lg 7 9t Td IGEE]|
SaTs 10 A B, 3UDT 3 :

e 660cm3/ 660FHI3
e 374cm’/ 37473
e 286cm3/ 286THIS
e 712em3/ 7129H

Correct Answer :-374cm>/ 374@"ﬂ3
17)
Question Stimulus :-

InA ABC,if32/A=4sB=127C,then#B-2C=/ A ABCH Tt
I/A=4/B=12/C,dd +B- £C=

450
Correct Answer :-

18)
Question Stimulus :-
The mean of all the factors of 48 is / 48 & T t[m HTATAR :
e 84
o 13.7
o 12.4
e 94
Correct Answer :-12. 4
19)
Question Stimulus :-

The smallest number, when divided by 18 and 16 leave the remainder 2, is / g a9 DI |- Ty,

or a2 18 wd 16 @ fauTfora far wie o AuEd 2 YT glan g :



e 128

e 192

e 290

e 146
Correct Answer :-146
20)
Question Stimulus :-

How many bricks each measuring 25¢m x 10cm x 6¢cm are required to build a wall 18m long, 10m high
and 80cm thick, if 20% of the wall is filled with morter? / T 18 HY wdlt, 10 #} St wd 80 A Wit
AR &1 fAaior 33 & 2599 x 109t x 68 ATY aTel! fohaeit $ei Bt smazadar g, afe AR &t
20%, TRT §RT R ST 812

e 82400

e 76800

e 91450

e 69190
Correct Answer :-76800
21)

Question Stimulus :-

Class 0-10 10 - 20 20-30 30-40 40-50
Frequency 3 15 30 6 2
The mode for the above grouped frequency distribution is /
aar 0-10 10 - 20 20-30 30-40 40 - 50
FRERAT 5 13 30 6 2
IR Fefhd IRERAT ded & T g b
e 23.1
e 23.85
e 25.23
e 214

Correct Answer :-23.85
22)
Question Stimulus :-

Express 0. 134 in the form nfg /0,133 Rt E%'ﬁqﬁaﬁrﬁﬁl



121
900

137
990

L
900

101
990

121

Correct Answer :- 200

23)
Question Stimulus :-

The perimeter of a right triangle is 40cm and its hypotenuse 17cm. The area of the triangle is / HH

Brtor 1 ufarg 409 2 3k ST Bt 17 A g1 Bwivr &1 dFwa ©

e 150 cm?/ 150 JH12
e 80 cm?/ 80 THI2
e 120 cm?/ 120 12

e 60 cm?/ 60 THI2

Correct Answer :-60 cm?/ 60 wz

24)

Question Stimulus :-

AP and AQ are two tangents to a circle with centre ‘O’. The perimeter of the quadrilateral APOQ is 36cm and if
AP = 12cm, then OQ = / AP 3R AQ $% ‘0’ & TP g1 W &I TN & | TgYST APOQ HT URHIT 36 T 8
MR ar =12 MR, WoQ =

e 8cm/8TH

e 16cm /16 JHY

e 12cm /12 Gt

e 6cm /6 WY
Correct Answer :-6cm / 6 ST
25)

Question Stimulus :-



If the sum of the circumference and the diameter of a circle is 232cm, then its radius is / Qﬁ' U qul AR D] Td

T T AT 232 9 8, a9 sHB AT R -
28cm / 28 THY
32cm/ 32 GH
26cm/ 26 A
34cm/ 34 U

Correct Answer :-28cm / 28 ﬁ'ﬁﬁ

Topic:- General English
1)

Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

My parents have been married forty-nine years, but you can still see the love their
eyes.

e since, with

e for, among

e for, in

e against, since
Correct Answer :-for, in
2)
Question Stimulus :-

Choose the option that best transforms the given sentence as directed:

Who would not love his country? (The assertive form of the sentence)
e He could not love his country.
e Nobody can love their country.
e Everyone loves their country.
e All could not love their country.
Correct Answer :-Everyone loves their country.
3)

Question Stimulus :-



Choose the option that best fills in to complete the given sentence::

Your English better.
° gets
e has gotten
e is getting
e got
Correct Answer :-is getting
4)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

It cant be said Anil indignantly I was on duty last light and the night before
e It can’t be said Anil, indignantly I was on duty last light and the night before!
e It can’t be said Anil, indignantly “I was on duty last light and the night before.”
e “It cant be,” said Anil indignantly, “I was on duty last light and the night before.”
e “It can’t be!” said Anil indignantly. “I was on duty last light! And the night before!”
Correct Answer :-“It can’t be!” said Anil indignantly. “I was on duty last light! And the night before!”
S)
Question Stimulus :-

Choose the most suitable determiner for the given sentence:

planet from the Sun and from Mars has a year of 687 days.

The fourth

The four

e Four

Fourth

Correct Answer :-The fourth
6)

Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:



it was very cold, neither Ajay nor Vijay put on his coat.
e However
e Although
e But
e Nevertheless
Correct Answer :-Although
7
Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:

Do you want tea or coffee?

e He asked me that I wanted tea or coffee

e He asked me if I wanted tea or coffee

e He asked me whether if I wanted tea or coffee

e He asked me which I wanted tea or coffee
Correct Answer :-He asked me if I wanted tea or coffee
8)
Question Stimulus :-

Choose the correct form of verb that is in agreement with the subject:

The boys bad for their mistake.
o feel
o feels
o feeled
e can be feeling
Correct Answer :-feel
9)
Question Stimulus :-

Choose the option that best transforms the given sentence as directed:



He is very rich. He leads a very simple life.
(Combine the two sentences into one sentence)
e He is very rich, so he leads a very simple life.
e Being rich, he leads a simple life.
e In spite of being rich, yet he leads a simple life.
e He is very rich but leads a very simple life.
Correct Answer :-He is very rich but leads a very simple life.
10)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

The girls didn’t want to spend a long time the carnival.
o at
e until
e among
e during
Correct Answer :-at
11)
Question Stimulus :-

Choose the appropriate option that fills in the given sentence correctly:

Smoking will never be given up, the tobacco industry thrives.

e so that

e as long as

e though

e as if
Correct Answer :-as long as
12)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::



I a very interesting book at the moment.
e have read
e read
e have been reading
e am reading
Correct Answer :-am reading
13)
Question Stimulus :-

Choose the option that best fills in to complete the given sentence::

Every night for the last two years John in this restaurant.
e is working
e has worked
e works
e working
Correct Answer :-has worked
14)
Question Stimulus :-

Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
e [ have scarcely no qualms
e about the rights and wrongs
e of my doing.
e No error
Correct Answer :-I have scarcely no qualms
15)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:



Somebody cleans these rooms every day.
e These rooms are cleaned every day for someone.
e Those rooms are cleaned every day.
e These rooms are being cleaned every day.
e These rooms are cleaned every day.
Correct Answer :-These rooms are cleaned every day.
16)
Question Stimulus :-

Choose the option that is closest in meaning to the highlighted word in the given sentence:

India has to rebuild its reputation as a champion of human rights.
e fame
e discredit
e competition
e permutation
Correct Answer :-fame
17)
Question Stimulus :-

Choose the option that best punctuates the given sentence:

State owned Bank of India offers extra interest to long term investors

e State-owned Bank of India offers extra interest to long term investors.

State owned Bank of India offers extra interest to long-term investors.

State-owned Bank of India offers extra interest to long-term investors.

State owned Bank of India offers extra interest to long term investors.

Correct Answer :-State-owned Bank of India offers extra interest to long-term investors.
18)

Question Stimulus :-

Choose the option that best transforms the sentence into its Direct / Indirect form:



The teacher said, “The sun rises in the east.”
e The teacher said that the sun will rises in the east.
e The teacher said the sun rose in the east
e The teacher said the sun will rise in the east.
e The teacher said that the sun rises in the east.
Correct Answer :-The teacher said that the sun rises in the east.
19)
Question Stimulus :-

Complete the sentence choosing the right form of Prefix:

This magazine is published __ weekly.
e re-
® non-
e bi-
® post-
Correct Answer :-bi-
20)
Question Stimulus :-

Choose the option that best transforms the sentence into its other voice:

Someone stole my car.
e My car is stolen by someone.
e My car is being stolen.
e My car has been stolen.
e My car was stolen.

Correct Answer :-My car was stolen.

Topic:- RC_General English
1)

Question Stimulus :-
Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

Which fine art was Newton interested in?
e Dance
e Music
e Painting
e Drawing
Correct Answer :-Painting
2)
Question Stimulus :-
Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
e By means of sunlight.
e By means of moonlight.
e By means of shadows.
e By means of a pair of arms.
Correct Answer :-By means of shadows.
3)
Question Stimulus :-
Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

When was Sir Isaac Newton born?
e 1640
e 1650
e 1642
o 1648
Correct Answer :-1642
4)
Question Stimulus :-
Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

To which subject did he devote his life?

English

Science

Statistics

Politics

Correct Answer :-Science

S)

Question Stimulus :-

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every

particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

Which college did Newton graduate from?
e Oxford
e Harvard
e Stanford
e Trinity
Correct Answer :-Trinity

Topic:- General Knowledge

1)
Question Stimulus :-

is often nicknamed the “Sikkimese Sniper”. / urg: “Rifepdie HITUR” ¥ U fFa o §|

Pawan Kumar Chamling / Ud- $HIR ATATeRT

Baichung Bhutia / STSY ¥fedr
Omi Gurung / 3t 'ﬂT‘T

Tarundeep Rai / TEUREIY I

Correct Answer :-Baichung Bhutia / STSTT H:ﬁTIT

2)
Question Stimulus :-
has the largest reserves of diamond in India. / HIR<d i | éﬁ' T Jad g3T YR i | %I

Maharashtra / HEIRTY
Uttar Pradesh / 3TR U%QT

Madhya Pradesh / TAYGRT

Rajasthan / XTSTRITH
Correct Answer :-Madhya Pradesh / 'FIQII'CI%QT
3)

Question Stimulus :-



The river Cauvery originates from which state? / A T'I?ﬁ frg g @ IaA a?ﬁ %?
e Kerala/ ®3d
e Telangana / CEUIR
* Maharashtra/ HeIRTY
e Karnataka / $cd
Correct Answer :-Karnataka / 1¢®
4)
Question Stimulus :-

When was the Reserve Bank of India nationalized? / WIRdd f¥id 9% &t ?T@W % fopgr T 42

15t December 1949 / 1 f&TFIR 1949

1%t January 1949 / 1 STIGRY 1949

1%t February 1949 / 1 BRaRY 1949

15¢ March 1949 / 1 HTH 1949

Correct Answer :-1%¢ January 1949 / 1 =GR 1949
5)
Question Stimulus :-

Chapati shot in cricket is a trademark shot of ./ ferdpe o Turel} =ive 3l e

gl
e Ravi Shastri / I STt
e Sachin Tendulkar / T dgaAd
* Sunil Gavaskar / '\ﬂ‘ﬁ'ﬁ REIEE
e Rahul Dravid / YT§d &faS
Correct Answer :-Ravi Shastri / Id QT
6)
Question Stimulus :-

gharana of Indian classical music was founded by Amir Khan. / YR AT G &1
TR PR @1 gRT w1fud foar mar o

e Agra/3ART

e Indore /¥QRR
e Kirana / fopRT4T



e Patiala / GfegTel
Correct Answer :-Indore /?;?a?
7)
Question Stimulus :-

Which is the highest military award in Indian Defence Services? / YR T&m Qarsit & wat= I Wnaﬁq
| g?

e Param Vir Chakra / URH 91X T

e Ashok Chakra Award / 3= b 3ATS

e Maha Veera Chakra / Hol dR TP

e Sarvottam Yudh Seva Medal / HaI<TH & T4l UgH
Correct Answer :-Param Vir Chakra / XU 4R Ib
8)

Question Stimulus :-

Mahabalipuram, one of the architectural wonders of the world is situated along the shores of ./
HeTToIRy, 3y & aregRedty enyaf A d wp it ¥ dc W fRE 31

e Arabian Sea / 3IRd IR

e Andaman Sea / S[SH AR

e Indian Ocean / %3 HelHTIR

e Bay of Bengal / S7ITel 4| E'ITS&
Correct Answer :-Bay of Bengal / STl 4| E’I@ﬁ
9)

Question Stimulus :-

The name of airport in Bhopal is AT IGE: Ea'lg Glg Ddra¥ %I

e Devi Ahilyabai Holkar Airport / 381 SIfgeTaTs gieh: gars 3rgl

e Dumna Airport / SHAT garg Mgl

e Panna Airport / GdT 331? Mgl

¢ Raja Bhoj International Airport / XTSI yier GI?IW'@TJ E?:né 3MST
Correct Answer :-Raja Bhoj International Airport / XTSIT yier G-I_CRTI'@TI Gﬂ'lé Mgl
10)

Question Stimulus :-



The Union Government announced that Rs. 500 & Rs. 1,000 notes would cease to be legal tender in 2016. It was
announced by in a surprise address to the nation. / g TXDHR A 500 TUT 1,000 & Al BT 3y
T »< f&an g8 F GRT U Haryd & SR forar T

e The President / mﬁf

e The Prime Minster / WTTHAT

e The RBI Governor / Gﬂﬁﬁx’rﬂ%%‘ﬁﬂ?

e The Chief Justice / §3I ot
Correct Answer :-The Prime Minster / WT-THAT
11)

Question Stimulus :-

Kailash Satyarthi founded Andolan. / T Fardf 3 SfTGIe P TITYAT B |

e Narmada Bachao / THST F=man

e Namantar / THIAR

e Jungle Bachao / EUGEEIE]

e Bachpan Bachao / U CEIE)
Correct Answer :-Bachpan Bachao / 99U CEIR)
12)
Question Stimulus :-

India’s second largest port by volume of cargo handled is

foRaT ST aTaT U BT gORT 9ad g8T 46E
e Krishnapatnam / PWIMYgAH
e Visakhapatnam / ﬁ:l!m'm'qm
e Gangavaram / AR
e Kakinada / STHITST
Correct Answer :-Visakhapatnam / m
13)
Question Stimulus :-

was the first Indian politician to interact with

port. / foaR-&a & AR IBLIEG

§EUE g

citizens on a live chat over the internet. /

gac & AN A 9159 B¢ W ARRS] | Ia<id #31 a1 Ugd R I ifag A

e Atal Bihari Vajpayee / 3[ccl faert arorudt
e Narendra Modi / W 'Fﬁﬂ



e L.K. Advani/ Td.%. 3mSqroft

e A.P.J. Abdul Kalam / .Ut 51, 3(egd HaTH
Correct Answer :-Narendra Modi / g HIS
14)
Question Stimulus :-

Good governance day is observed annually on 25th December, the birth anniversary of ./25 ﬁﬂﬂ?

@I uferad G e 7= Sran §, wife o1 94 fgaw g
e Atal Bihari Vajpayee / 3[ccl faert arorudt
e L.K. Advani / Td. &. 3TSarufl
e A.P.J. Abdul Kalam / Q. 0. &, 3(sgdl aTH
e LK. Gujral / 3T§. &. ToRTA
Correct Answer :-Atal Bihari Vajpayee / 3{ccl faert arerudt
15)
Question Stimulus :-
is called the “Rani of Jhansi.” / P« P I Pl Srar gl
¢ Rani Ahilya Bai / I m
e Rani Lakshmi Bai / I ﬁ&‘:ﬂﬂ'lg
* Rani Durgawati / T ?ﬁﬁ?ﬁ
o Akkadevi / 3BTt
Correct Answer :-Rani Lakshmi Bai / I ﬁ&aﬂﬂ'l's:
16)
Question Stimulus :-
is also known as “Modern Meera”. / Cal "GITW R & =ud Y ST SAran %I
e M.S. Subbulakshmi / TH. T¥. JsgaeH!
e Mahadevi Varma / q?l%ﬂ CE |
« Sarojini Naidu / GRITST ATOg
e Vimala Devi / fqwrem 34t
Correct Answer :-Mahadevi Varma / H?Ta'tﬂ aut
17)

Question Stimulus :-



National Mathematics day is celebrated in India on December 22 on the birthday of L YRaG ®

g fvra faaw, 22 fewwr 1 & Sfeay W HATIT SITdT gl
e Harish Chandra/ Eﬁ'%r&'
e Srinivasa Ramanujan / ffrara RTHTISA
e Shakuntala Devi / Ipaar gal
e P.C. Mahalanobis / W.3ft. wgTam=iag
Correct Answer :-Srinivasa Ramanujan / sftfrara XTHTSA
18)
Question Stimulus :-

As per 2011 census, is the second least populous state in the country. / 2011 P SFTUET & SR,

3 T gORT Fad P SIS} are I gl
e Manipur / AfOTYR
e Nagaland / EINIGES
e Arunachal Pradesh / 3 UITHE T
e Mizoram / fUSIIR®
Correct Answer :-Mizoram / fHeiRH
19)

Question Stimulus :-

The states of Meghalaya, Manipur and Tripura were created in . ﬁ'ﬂ'l?l'q, 'FIﬁTQ? Tq ﬁlg?'r IS4l Bt
# g9 T

1970

1972

1975

1978

Correct Answer :-1972
20)

Question Stimulus :-

Who among the following has been elected as Chairman and Managing Director (CMD) of the Uranium

Corporation of India Limited (UCIL)? / f=T ¥ & f&a [faw S1uR= oifw gfean forfies (uciL) & sreme
auT ey Fe=I® (cMp) Ug W e fear mar e

« Debashish Ghosh / SaTRHY Ty
e Sanjeev Sood / ﬂ\_rnaﬁa



e CK Asnani/ H1.%. 3RATH!
e Vinod Agarwal / fa e sraTa
Correct Answer :-CK Asnani / 1.%. 3Rt
21)
Question Stimulus :-
is popularly known as “Human computer”. / , "HIHd W” ¥ 99 | fe=ma %'I

Srinivasa Ramanujam / sffara RTHTSTH

Harish-Chandra / m—ar_ﬁ

Shakuntala Devi / JTpddl ¢dt
e P.C. Mahalanobis / Ut. ¥1. ﬂ?’lﬁﬁ'\q

Correct Answer :-Shakuntala Devi / RIpdail odt

22)
Question Stimulus :-

First Indian paralympian to win two medals at the Paralympics is . WRrfafreg # Epf Ugdh

SHae ardt vgd U< dRrf R 2l
e Devendra Jhajharia / éﬁamﬂm
e Mariyappan Thangavelu / afaus '«'-I'F'Tlaﬁ
e Deepa Malik / EﬂTIT Tt
e Varun Bhati / 50T YT}
Correct Answer :-Devendra Jhajharia / %ﬁa Wﬁ'ﬂT
23)
Question Stimulus :-

Which country declared an emergency due to flooding on 5th November 20162 / f6 a'SZT 5 W, 2016 P
q1¢ & BRI ATUTADTA DI GIY0N HI?

e Mexico / AfRIPY

e India/ HIRd

e Russia /¥

e Australia / Gﬁl’@'ﬁr{ﬂ
Correct Answer :-Mexico / AfGI®

24)



Question Stimulus :-
Bhoja was an Indian King from the _ dynasty./ 'l-ﬁTrT, NGB TH YR I i
e Paramara/ IRHAR
e Mughul / HITd
e Nanda /gl
e Maurya/ i
Correct Answer :-Paramara / GQXHIY
25)

Question Stimulus :-

Which one of these Chief Ministers has not served a second term? / §1 'ﬂ'@'ﬂﬁtﬁ # & foam ﬁ'\‘ﬁ' AU
o Har e &
e Bhagwantrao Mandloi / HiTddRTd qs?ﬁ'é
Sunderlal Patwa / e aTd Ycdl
Arjun Singh / S{ﬁﬂ'ﬁlﬂ'

e Uma Bharti / 3HT HRd!

Correct Answer :-Uma Bharti / SHT HIRdl

Topic:- General Computer Knowledge

1)

Question Stimulus :-

How to create Newsletter columns in MS Word-2007? / MS Word-2007 ¥ w PIaH P fpue
fpuwra 22
1) Select area on document [ ?pﬂﬁiﬁ' W TRAr gede
T
ii) Select Insert tab / Insert && Tdige &e
o lil) Insert 2 text boxes / 2 ¢9%C 9190 S0 &L

i) Select area on document/ Wﬁf W UTRAT JeEc
F

i) Select Insert tab [ Insert 29 Toldc &Y

iii)  Insert Tables with 2 column / 2 Fiei#d arell cad

SeEC Y

iv) Change Table Properties to make Borders and Shading
to None / @59 dar 9fE &I 77 (None) gl &

e 9o giadia Icd



1) Select area where column should begin [ 339 o
HT Tolge T oA6T FIdH IIRT T ©

i) Select Page Layouttab / U ®/313¢ 29 doige &l

iii) In Page Setup group — Select Columns -2 / 91

eHT JT A - FlAA - 2 FaAFe B

Columns cannot be created | FHiciH Aot whoe fo
. S EHAE
1) Select area where column should begin / 38 TR
F Tolde I oA6T HIdH 3IRT Tl &
ii) Select Page Lavouttab / U= ®/3713¢ &9 doigc &1l

i1} In Page Setup group — Select Columns—2 / 95
3T YT A - FlaA - 2 Joge

Correct Answer :-
2)
Question Stimulus :-

On successful compilation of an Android application project, the output file should be
downloaded to your mobile for the app to be installed / TSTIS Ewﬁﬁwm & 95d W@W R
3TIS HIGISd R TY & SICTARH & forg 3T3CYC BIsd SISAAIS B o+ Ale|

e .apk file

o .jdk file

e .pdb file

e .sdk file
Correct Answer :-.apk file
3)
Question Stimulus :-

What function displays row data in a column or column data in a row in MS Excel? / MS Excel ﬁ,

B T AR 3 ST B HIaH B IT HIad ST HI 1 H & seanr g2
e Intercept/FCIAE
« Convert/®=c
« Transpose / CIUTS
« Rows /I

Correct Answer :-Transpose / mﬁ

4)



Question Stimulus :-

A dedicated high speed network or sub-network that interconnects and presents shared pools of

storage devices to multiple servers is called - / SSlhes BTQF s Aead g1 9a-Acad ol WSl
fEarsade & AuS Yo &) Afeeud Tdd A Sexdpae TUT Usie HIdT 8, Fedldl ¢ -

e Local Area Network (LAN) / @lepd URAT ATTP (LAN)
Wide Area Network (WAN) / dISS Q'RTIT Acad (WAN)
Storage Area Network (SAN) / TS QﬁTIT Acad (SAN)
Network attached storage (NAS) / dddb TS WINST (NAS)

Correct Answer :-Storage Area Network (SAN) / TR Q'RTIT Acad (SAN)

5)
Question Stimulus :-

Which program is run by BIOS to check hardware components are working properly while computer

is turned ON? / f=1 & | BIOS GRT ®I191 AT WA Heferd farar SIraT 8 o +ger 39 81 R 98
WY Bl ¢ [P TS auR driHe JYfud 0 | &1 &3 38 32

e DMOS

e POST

e CMOS

e RIP
Correct Answer :-POST
6)
Question Stimulus :-

Which of the following was introduced in Windows 10 — personal computer operating system? / =

7 71 fdsie 10 ¥ wia srger sitaRfe ey # gl IR wgaa g3m 82
e Touch UI/<H Ul
e Metro Apps / ﬁﬁ' T
e Microsoft Edge / ATGHIATG gl
e Windows Hyperboot / fasier HEREEE
Correct Answer :-Microsoft Edge / ATSHIAITe ggul
7

Question Stimulus :-

Which language is used to create a macro in MS Excel? / PI H AT MS Excel H A faTE'E' A
& ferg g gidt 82



Java / SITdT

Visual Basic / ﬁ'ﬂ\’dﬁ CIRED
pHP / Groeth

. /4t

Correct Answer :-Visual Basic / ﬁgam R

8)
Question Stimulus :-

Special effects used to introduce slides in a presentation is known as / Uole=M

H T3S I SEISgd HR+ & oY 3EATd fHT o a1 Wi shae A S EUATH A & -

« Transitions /giforsi|
. Effects/Shacyd

« Custom Animations / $¥H UTHHTY

« Annotations / T
Correct Answer :-Transitions / €ifor=ig
9)
Question Stimulus :-
Which of the statements below is true? / A= & @ 19 91 920 W&l 82

e HTTP Cookies are data (eg. Username) stored in small text files on your computer
%/_ HTTP $HIN TUF HIYER W B¢ TRT BIged # R {41 141 3T (IS0 & e gor W) g

e HTTP Cookies are scripts written in Java code for playing Adobe Flash files on the
browser / HTTP PV FISoR W TS TR BIged W B3 & forg ora1 oS # foredt g5 e
Lok

« HTTP Cookies save your bookmarked URLs to your system / HTTP $dIdl IS RIeq
o gHUP fHT TT URLs BT Aed Hd &

e All of the above / IWRIa It

Correct Answer :-HTTP Cookies are data (eg. Username) stored in small text files on your
computer / HTTP I TUh HIXEI W B¢t TR BIIRT H W R {541 141 3eT (IS8R0 & forg Tor
A7) B &

10)

Question Stimulus :-
Select the odd one out / TG AP T BT ITH B -
¢ GNU Image manipulation program (GIMP) / GNU E'el\_r[ ﬁﬁ'ﬂﬁ?ﬁ DI



e Adobe Photoshop / Qt‘ﬁﬁ LRI

e Inkscape/ '{Wq
« Adobe Dreamweaver / TSI§ @Tlﬂﬂ?
Correct Answer :-Adobe Dreamweaver / E??ﬁ Eﬁ'ﬂﬁﬂ?

11)
Question Stimulus :-

The shortcut key for thesaurus in MS Word (versions 2007) is / MS Word (HTT&'T 20007) H thesaurus &

o wiéwpe-#18 |

e Alt+F7

e Alt + Shift + F7

e Shift + F7

o CtrlH+AIt+F7
Correct Answer :-Shift + F7
12)

Question Stimulus :-

A html5 tag that is used to display a web page within a web page is / 4@ B9 T htmls T % oraeT SUaT
A9 U9 & HiR 99 U feeat o & forg fsan e 32

o <iframe>

o <frame>

o <fr>

o <ifr>
Correct Answer :-<iframe>
13)
Question Stimulus :-

In MS Word, Ctrl + H is used to ./ MS Word H, Ctrl + H BT S&HTd,

e Open Find and Replace Dialog box with activating Replace Tab / Replace Tab Cal @a? Hd 4y
Find and Replace STACIRT dldd 3Y= Il %I

e Open Format Dialog box activating Insert Hyper Link tab / Insert Hyper Link Tab A E%a? Hd
BU Format STIANT 914 31U HdT 8|

e Open Insert Dialog box activating Insert Hyper Link Tab / Insert Hyper Link Tab G| maﬂﬁ'ﬁ({
Insert STAANT ST 3T HIaT B |

¢ Open Insert Hyper Link Dialog box / Insert Hyper Link STUANT die 3N Hdl %I



Correct Answer :-Open Find and Replace Dialog box with activating Replace Tab / Replace Tab Ca

ufdede HRd §U Find and Replace STIANT STRT 3T BT 2 |
14)
Question Stimulus :-

Which is the database management system (DBMS) from Microsoft which is
part of the Microsoft Office Suite? / ATSH AU BT, THT B IT Sc9Y AviAe RIeA &

S AT INITYE SHFd g3e BT U 81 82
e MySQL
e MS Access
e SQL Server
e NoSQL
Correct Answer :-MS Access
15)
Question Stimulus :-
A memory cache is usually stored in / ﬁTﬁﬁ aﬂT HHT 4 @' A= d @? @?ﬂ % -
e DRAM
e SRAM
e ROM
¢ Flash memory / TR AW
Correct Answer :-SRAM
16)
Question Stimulus :-

Which option can be used to set custom timings for slides in a presentation,
to make MS Powerpoint automatically flip slides in sync with your speeches?/

Ms TTaR@Tg e B US| Wi & 14 Riw A sifciifed ¥ A fFau wrssa &3+ 6 J&H I3
P fore fory fawey &1 ST foaT &1 g d1 22

o Slider Timings / TATS SR CTSHT
e Rehearse Timings / ﬁ?‘&fag&rr\q
e Setup Slide show / T 3T TATSS T

e Transition Duration / QTRIFZFT W
Correct Answer :-Rehearse Timings / ey & E |

17)



Question Stimulus :-

Which of the following is not an example of a system software? / =1 o O 71 e w i awR &1
SEIER0T T81 &2

e Device driver / %GTE'\‘T SIgdY

e Assembler / ST

« Word Processor / 98 UTGR

e Compiler / PHTFR
Correct Answer :-Word Processor / 8 WG
18)

Question Stimulus :-

What format is used to store data in the computer? / PFYCI HSeTRR &1 & fae = 6 9 fvw
WiHe ST AN fHar oirn 82

Binary / CIEREI]
Decimal / SR\

Octal / m

e Hexadecimal / %a'méﬁma

Correct Answer :-Binary / HE:I'&

19)
Question Stimulus :-
Which of the following is not a Unix command? / FfEadad@n qﬁﬁ'\q PHIS qﬁ%"
e cd
e chdir
o file
e cls
Correct Answer :-cls
20)

Question Stimulus :-

Javascript is commonly used for / SaIfSp 9THR 9 3 3‘-|1?r ¥ fras i%nz PUILAEIREIG)) %?

e Image manipulation / Eﬁﬁf ﬁﬁ'ﬂﬁ'ﬂ? & 1%113
« Form validation / afeTS << BTH & "%I'Q



e Dynamic changes in content / P d sSHAffS dqdlid PH D ﬁnz
« All of the above / SURIGd I & ﬁ‘l’({

Correct Answer :-All of the above / JURTad I & ﬁl"’{

21)

Question Stimulus :-

Which among the following is not a Logic gate? / = 9 9 T Aifore e qﬁ%"
e AND
e XNAND
e OR
e XNOR

Correct Answer :-XNAND

22)

Question Stimulus :-

Which file starts MS Word (Versions 2007 and above)? / = # | &9 I w15d ms
Word (Versions 2007 </T 3T m?r) WIS Bl %?

e Winword.exe

e Word.exe

e MSWord.exe

e Word2016.exe
Correct Answer :-Winword.exe
23)
Question Stimulus :-

WWW Browsers, FTP and HTTP exist in the layer of the 7 layer OSI Model / WWW m, FTP dYT

HTTP AR P 7AW OosI Alsa A A &1
e Network layer / dead
e Application layer / E'Wﬂw
o Presentation layer / l'lﬁ%"l'ﬁ
e Transport layer / m’lﬁé

Correct Answer :-Application layer / Ewﬂ%szm

24)



Question Stimulus :-

Which of the following is true regarding page Orientation of a Document? / forsit saq;ﬁlz’ & U

NfEedeH & deH A A= A @ 919 I1 faweu Ogl 22

e Page Orien%ation can be changed at any time /U \?rﬁﬁ'Q%'Q'FI ot Wit wwg wr ufvafda fear
Sl Jhdl

¢ Page Orientation of document is determined by printer / 33!]33? Cakvic] GhﬁQ%QFT filex g
Fuifva fearSmar

e Page Orientation must be set after typing / sl Gﬁﬁ'@'ﬂq E'IEﬁ‘T & dlq A< fomar ST il'l'%l'{

* Page Orientation of a document cannot be changed. /Eﬂa? Cakvic] Gﬁﬁ'E%'QFT ufyafda T'Iﬁ
fPar s awar g

Correct Answer :-Page Orientation can be changed at any time /ST Gﬁﬂ'@m fedt g wR
uivafda fear smawar g

25)

Question Stimulus :-

Which one of the following protocol is used to receive gmail (or) yahoo (or) Hotmail

messages? / =1 § & {5 Micidia BT SUGRT SITAT (AT) AT (A7) THA T U B & g
fopaT ST 82

» Simple Mail Transfer Protocol (SMTP) / Rrga Aa TNBR Meraia
e Post Office Protocol 3 (POP3) / TIRT T Ui Id 3 (POP3)
e Internet Message Access Protocol (IMAP) / Rﬁf A Qﬂ'\qﬁ melhid
o All of the above / SURNad T
Correct Answer :-Post Office Protocol 3 (POP3) / UIE 3Tty UIeIPpId 3 (POP3)

Topic:- General Logical Reasoning

1)
Question Stimulus :-

The average age of the 27 girls in a class is 13. The teacher is 41 years old.
What is the average age including the teacher? / H&T # 27 dSfhal B 3fi¥Id 311, 13
21 ATt 41 9 Y B 1 SreaTieT Y MU P SiTd g T 32

o 27
e 14
e 20
e 34

Correct Answer :-14



2)
Question Stimulus :-

If INSERT is coded JOTFSU, then how is PENETRATE coded? / Gf¢ INSERT & JOTFSU @ ®ifgd
a1 SITaT 8, 9 PENETRATE &) $ Sifsd forar s

e QFOFVSBUF

e QFOFUSBUG

e QFOFUSBUF

e OFMFUSBUF
Correct Answer :-QFOFUSBUF
3)
Question Stimulus :-

Divide 960 into 2 parts such that one exceeds the other by 26. / 960 T 2 Q-ﬂ'*ﬁﬁ%ﬂ?l?‘&a’
& faurfora o3 {5 Te, gav | 26 STaT1 91

e 467,493

e 534,426

o 474,486

e None of the above / @ﬁﬂﬁﬁ 3 ﬁiqé’r
Correct Answer :-467, 493
4)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / EiE| &

TS e A 3fer) 3R Weeil &1 HH SufRUd 31 Tad Fale- Ugn=a:
i. Ik45ljijeSty ii. Ik4SljijeStjy iii. Ik4SljijeSty  iv. 1kdSljijeSty
o i
e ii
e iii
* iv
Correct Answer :-ii
S)
Question Stimulus :-
Averageof 2,4, 6, 8, and 10is/2,4,6,8, 3R 10 T 3NTd R
e 6



e 8

e 4

e None of the above / G'CI'{?IW ﬁ@'ﬂ'ﬁg EEHi
Correct Answer :-6
6)
Question Stimulus :-

In the word ‘ACCOMPLISHMENT"’ each letter is replaced by the letter preceding the letter in the alphabet series.
What will be the 10t alphabet in the changed word? / ‘ACCOMPLISHMENT’ X1 H Ud® (&R B &R el

# S ydadt srar @ ufereiia o fan wan uRaffa e § 107 srar w1 eI

o I

e J
Correct Answer :-G
7)
Question Stimulus :-

The following question is based on an encryption system in which IECR'E] Uh ﬁ'\‘ﬁ mﬁ YOI UR SmemiRa %
fors

You are good is coded as Lu Le La / You are good P Lu Le La A BifSa forar siran %
They are players is coded as Le Ne Me | They are players B Le Ne Me | Hifsd forar Siram %
He is good is coded as La Si Su / He is good B La Si Su QA SIS far sirar %

What is the code word for are? / are B Tord T W—W %?
o Le
o Lu
o La
e Ne
Correct Answer :-Le
8)

Question Stimulus :-



e 0

e 1

e 3
Correct Answer :-1
9)
Question Stimulus :-

The series given below contains a sequence of numbers. Identify the
incorrect combination: /= & 7 e # TBAT3i BT HH IUfRUT g1 Ted A=
325, 259, 202, 160, 127, 105, 94

e 94

o 127

o 202

e 259
Correct Answer :-202
10)
Question Stimulus :-

If TANGENT is coded NATGTNE, then how is MUSTARD coded? / Gf& TANGENT &' NATGTNE
FIfed f5ar STdT 2, 9 MUSTARD &) $1 Sifsd forar SR

e MUSTDRA
e DRATMUS
e SUMTPRA
e SUMTDRA
Correct Answer :-SUMTDRA
11)
Question Stimulus :-
Find the odd one out: / T® fauw Jd Hﬂﬁﬂz:
. Bicycle/ql?{ﬁm
e Car /TI'IT‘,.-Pf
e Truck/¢®P

e Bus/dYH

Correct Answer :-Bicycle / arsfed



12)

Question Stimulus :-

If the following two squares shown below overlap, which one of the

following options is formed? & 1o IGP= m Iy Eff g7
sfearad ght, df Fea & ¥ *la ar AFeT =am

)
I |l s
]
1]
. EE—.
1]
] *—
1]
. e ——aa
]
1]
. -
>
* 1]
--l-ll-n-ll-.-i-ll:n--u-
L
[ ]
- '
g s o e =
. >
L]
-
§
L]
a ;
[ )
. S S
[ ]
-y b =
1 ]
i
L ]
-
[ ]
[ ]
- &
" EE EE S
. >
L]

Correct Answer :-
13)

Question Stimulus :-



The average age of a family of five was 32. It fell to 18 when the grandmother died. How old was she? / uTe @

qTa URaR # 3fia 3y 32 A1 el & TRA WX, 3t g AR 18 81 15 | 98 fha ara ot &
. 98
. 72
. 88
. 102
Correct Answer :-88
14)
Question Stimulus :-

Complete the series choosing the missing number: / & J&T FAHR AT Bl TR
aﬁﬁnz:

3,7,15,31,
e 60
e 65
e 64
e 63
Correct Answer :-63
15)
Question Stimulus :-
(7 x 4) + (2 x 12)-((24/8) + (121/11) x 2) = ?
o 27
e 32
e 30
e 11
Correct Answer :-27
16)
Question Stimulus :-

Six friends are seated around a circular table. It is known that L is seated between P and N; Q is seated to the right
of O; and M is seated between N and O. Find the friend who is seated between L and Q. / ¥%: e T Q?'ﬂ'q - |
FAERTI T T & L, P IRNF T A IaT8; Q, 0 PSR 3R 5T ®; 3R M, N 3R 0 & §Ha A a1

2 T IO PICA S L 3R Q & S A Sa1 81

e M

e N



e O

e P
Correct Answer :-P
17)

Question Stimulus :-

If the fifth day of a month is Saturday, then which of the following will be _the fourth day from 26t of
the month? / TFS 7R BT ufaai A AFER 8, A P A AT F 267 R A RurRa sl
gRM?

. Monday/w

e Tuesday / HITAAR

e Wednesday / §UdRR

e Thursday / AR
Correct Answer :-Wednesday / §UdIR
18)
Question Stimulus :-

In the sequence shown below. which figure comes next? /= G@
T HH A, AT DT HiA A




Correct Answer :-
19)
Question Stimulus :-

If the diagonals of two squares are in the ratio 1 : 5, then what is the ratio of their

areas?/dfe gl T¥If & fa®ul &1 U, 1: 5 8, 91 TP &AB ! BT U T FIM?
e 1:5
e 1:10
e 1:25
e 5:1
Correct Answer :-1 : 25
20)
Question Stimulus :-
(720/6) + (39/3) - (16 x5) -45/15x7=?
e 35
e 32
e 41
e 38
Correct Answer :-32
21)

Question Stimulus :-



A, B, and C can do a work in 24, 16 and 12 days respectively. How many days will it
take them to complete the work, if the three of them decide to work together? /A, B,

3T ¢, HER: 24, 16&ﬁ?12ﬁ=ﬁﬁao‘rtfao°rwwm%|m%muﬁmmﬁmﬁvﬁﬁ% @37
EﬁnquTiﬁwﬁiif&ﬁrifa=r?ﬁﬁﬁv

53 53
o 4 days/ 4 faq
2 2
5= 5=
. 3‘h’m/ 3 fea
51 7 dars 51
. ;3 fe=
51 ;5 davs 51
. /2 fe=
5 ¢hjs 5E
Correct Answer :- 3 ﬁ‘[

22)
Question Stimulus :-

Complete the series choosing the missing letter/s: : / T &R JABT YT B TR

PifoTg:
aab_a_ bb_a
e a,b,a
e b,a, a
e b,a,b
e a,b,b
Correct Answer :-b, a, a
23)
Question Stimulus :-

The least square number divisible by 5, 6, and 10 is /5,6, 3R 10 ¥ fauTSy, Wa‘fﬂ"@T

g
. 300
. 600
. 900
. 1600

Correct Answer :-900



24)
Question Stimulus :-

Two friends, A and B cover a distance of 100 km at a speed of 25 kmph and 40 kmph respectively. What is the
difference between the times taken by them, if they start at the same time? / | aﬁ, A 3R B, 100 feilt o1 ﬁ'\ﬁ' G|

HHI: 25 B ufa guer iR 40 Y ufd gver &1 99 W 70 F3d &1 37P gR1 ol T 99 & §9 371 3R
FIT 1T, f 3 TP §) TUT WR T Y BRd 32

e 4hrs/4 ‘a%

e 2.5hrs/2.5%¢

e 1.5hrs/1.59¢

¢ None of the above /@ﬁﬁﬁﬁﬂﬁ'&‘qﬁ
Correct Answer :-1.5 hrs/ 1.5 §¢
25)
Question Stimulus :-

Sunil started a business investing Rs. 5,000. After three months, Anil joined him with
a capital of Rs. 8,000. At the end of the year, they made a profit of Rs. 7,700. What
should Anil's share be in it? / G-d = 5,000 ¥ 131 FX T sqaaqma = fHam1 &7 741 & 918,
8,000 B Uil & HTY SfT~TeT IqP ATY A T TaT1 99 & 3 |, 37 7,700 HT ATYH g1 3TN e

DT YT T g1 A19T?
e Rs. 3,500/ 3500 =UT
e Rs. 3,300/ 3300 3=UQ
e Rs. 4,200/ 4200 =UT
e Rs. 4,400 / 4400 =YY
Correct Answer :-Rs. 4,200 / 4200 3=UUQ

Topic:- General Management

1)
Question Stimulus :-

Shop floor workers are associated with which of the following? /RITT WA Prdwat, fFafafaa A A fFa &
Y IS 784 87

¢ Top management / i yEeA

e Middle level / HY X

e Low level/ FE &R

e Team leaders / G& & =dT
Correct Answer :-Low level / 19 &R

2)



Question Stimulus :-

Which of the following is NOT a source of working capital? / Frafafaa ¥ @ #19 srd=fia qﬁﬁ ST EId
T8I 32

e Commercial paper / arforfsas o

e Bank over draft / & Gnm

Discounting of bills / @l &t YATS

Unsecured term loans / wmﬂ STafU®H BT

Correct Answer :-Unsecured term loans / GW STafes HT

3)
Question Stimulus :-

The time gap between the payment for raw material purchases and collection of cash from sales is

referred as the / T 1T Bt WRIg F T Yra™ iR fast & Tl 31 ageht & dv & aug
SR BY ST STar 81
e Cash Cycle / T ¢ dUsh

Operating Cycle for the Company / HU & ﬁl'l!,' AT Ish
Bothaandb/aﬁa\?ﬁ?b
None of the above / §TH | ®Ig g

Correct Answer :-Cash Cycle / &g dsh

4)
Question Stimulus :-

Which of the following functions in an organization enhances the skills and capabilities of employees? / T JITSH

# g & A 919 a1 o1, FHAIRG $ BN R TS Y Ferdr1 82

Placement / T

Training / 'CIﬁT&‘I'UT
Induction / LRI
Development / fa®T

Correct Answer :-Training / uﬁT&'I'UT

S)
Question Stimulus :-

Which of the following steps is necessary in the HRP (Human Resources Planning) process every year to

incorporate changes in it to make it more useful? / Q?I'GI'R'Tﬂ (HHg Ity 'ChTrF'I'I) ufpar AT ad R a9
DI A TN ATTAP ¢ off STH URad H M FR I 3w IRt a1 §2



Setting aside funds / ST Y B TITYAT

Training / ufreror

Ensuring business objectives / TR & A&l Pt ﬁﬁlﬁﬁf HIAT

e Reviewing process / uferar &t FHI&T HeAT
Correct Answer :-Reviewing process / ufepaT &1 Jetem HeT
6)
Question Stimulus :-

is a tendency to judge people based on the perception of the group to which he belongs. /

AN Y i 3} vgfe & o i S g & sravd W snerie 2, R 3 et a2
e Stereotyping / IR AICTEIAT (Ffeasdn)
e Halo effect / UFRART AU
e Projection / U&TUT
o Selection perception / T 3rYfaT
Correct Answer :-Stereotyping / AT (Ffeamen)
7)
Question Stimulus :-

Which theory believed that leaders share some inborn personality traits? / ﬁ'—r ﬁ ﬁl@'l_d ﬁ' HTAT SITdT % fo

Aarsii ¥ $© We (Siadlid) Afdad A& gid 82

e Trait Theory of leadership / ﬁﬂﬁ 31 faiv® 'ﬁl?x'l?l'

e Behavioral Theory of leadership / ﬁ?‘jﬁ &1 IagR Nrgid

e Situational Theory of leadership / ﬁﬂﬁ &1 RIfee= ﬁ’l?s{l_d

e None of the above / wg[aaffﬁaﬁé T-Iﬁ
Correct Answer :-Trait Theory of leadership /ﬁ?jﬁ #1 foxive Rrgia
8)

Question Stimulus :-

The practices and policies of governments refers to / AYPIR 3t Hifeat oz m, '{\ﬁ Wﬁ-fa C G| %
e Economic Environment / 3Tf& wafazor
e Physical Environment / Wifas qafaror
* Marketing Environment / fagur wataror

e Cultural Environment / J&PpTd® aTaTaRor



Correct Answer :-Economic Environment / 3Tfi&® q'q'hTUT
9)
Question Stimulus :-

Which of the following is used to measure and correct activities of subordinates to ensure that events conform

to plans. / 9 & & foraesT war, srftaat @Y wifafaftmay &) wroe o w6 w1 & fere foa siraT @
o ag gt 8 9% o srdww, aiest & er=u 3

Controlling / IBUEL]
Commandinglum
Organising / KIS
Planning / YIeT=T

Correct Answer :-Controlling / FFRI=0T

10)
Question Stimulus :-

refers to number of subordinates a superior can manage effectively / =y

FHARGT BT TE HY TeRld Bt § Rt e qurd ¢ & ais #R aear 2|
e Span of control / IEUEL ﬁ?ﬂ'ﬁf
e Unity of direction / fa= Twan
e Unity of control / IBUELI Uhell
e Order /hH
Correct Answer :-Span of control / IBUEL] ﬁﬁﬁf
11)
Question Stimulus :-
Purchase of a machinery is an example for / U TR @t @eer, HPT Uh 3alerul ?-
e revenue expenditure / YTSId Y
e capital expenditure / q\ﬁﬂ' oaq
e current expenditure / dT¢] ogd
e none of the above / G'Q'gﬂ\_'f aﬁ% qﬁ
Correct Answer :-capital expenditure / q\Trﬁ qY
12)

Question Stimulus :-



Operating leverage measures the effect of change in and operating capacity on EBIT. /

U= yHET H Rad & SR B AYGT & 3R EBIT UR &HdT $T JaTed- Bl 2

Debt capital / FBUT q\ﬁﬁ

Operating Profit / ufaras Aty
Sales Quantity / ICER R IR 1L

Revenue / IS

Correct Answer :-Sales Quantity /ﬁm gfHATT
13)
Question Stimulus :-

The process of recording, classifying and summarizing the transactions is called / dTed & 3if? “-Iﬁ@q,

Fifevor gd wfdradiowor #1 ufspar ot w1 a1 a1 3 2
Book keeping. / CEECIGIRSECE]

Financial Accounting. / fawia Saie

Financial statements. / fa<it faavor

Preparation of income statement. / 3T faawor 3 dard
Correct Answer :-Book keeping. / CEECIGIRSECE ]

14)

Question Stimulus :-

The practice of omitting paise and then rounding off the figures in the financial statement is based on
/ T faitg faaror & U9 BYsA1 3R R siiwst &1 Fwes &, TR ST giar
gl

Materiality concept / HTgT SIAYURUIT

Duality concept / §g AU

Realization concept / Y YT

Cost Concept / T TAYTRUI
Correct Answer :-Materiality concept / HTgT SITYRUIT
15)

Question Stimulus :-

Which of the below given statements are True(T) or False(F): / Fufafea sy 9 Cack:| '\‘lﬁ (T) 3R B AT
T (F) 82

A. Distributive Justice: refers to perceived fairness of the amount and allocation of rewards among individuals /

famRuTee = : afemEl & 9 A 9 yaefied Ao iR REPRI 37 3ded $A | weiid



B. Procedural Justice: refers to perceived fairness of the process used to determine the perception of individuals /

AfhaTd® a1 : Afeaal #1 URon &) FrufRor $1 & e vy uferar @) yaeiea Froear @ weffa

o AT:B-T

A-F:B-T

A-F:B-F

A-T:B-F

Correct Answer :-A-T:B-F
16)

Question Stimulus :-

Which of the following events can be forecasted with the help of HRP? / frafafaad P A g BT
atgam, Ta.3R. W &) TgrrdaT T | g 82

e Function of the organization / I & H1d
e Job description / P faqror
e Attrition rate / &dUT ¥
e Deciding goals / A& B qF BT
Correct Answer :-Attrition rate / &0l ¢¥
17)

Question Stimulus :-

Bank overdraft as per cash book is a . /ﬁﬁa'é’r & ala'awaa? &m@
gl

Debit balance /@ﬁf Ay
Credit balance / STHT Uy
Cash balance /T'Iw bl
Favourable balance / 3 J®d Y

Correct Answer :-Credit balance / STHT Ay
18)
Question Stimulus :-

Which of the below given people are focused on the subjective, inner world of thoughts, feelings and ideas? / +=

feg e ai & | P« safeafgdr, faary @t Jad ghman, yranrsi e e w $d wEa @2
e Extroverts / ‘q’l%{f{q”r
e Introverts / W



. Bothaandb/ﬁ‘ﬁaaﬁ?b

e None of the above /mﬁ@ﬁ%qﬁ
Correct Answer :-Introverts / le_vl'ﬂ@
19)
Question Stimulus :-

Which of these skills are more important for a worker at the shop floor level?/ s I DI AT B qhI

& Yfrad TR R TP Srddal & e st wgayuf 82
e Conceptual skills / CEIRE AR
e Human Skills / HT-d B
e Design SKkills /%ﬁlﬁqm
e Technical Skills / TH-I®H! HIA
Correct Answer :-Technical Skills / TP} PRI
20)
Question Stimulus :-

The market price of a share of common stock is determined by: / AT WL & Udh IR BT
IR e, g Fruffya forar smar 81

o the board of directors of the firm / uﬁrgm & ﬁm Hsd

e the stock exchange on which the stock is listed; / MR 9V, o= WWW %;

o the president of the company. / HU & e

e individuals buying and selling the stock / [JR Eﬂﬁ 3R 991 ara aafaaal
Correct Answer :-individuals buying and selling the stock / MR WA iR =1 ard safFaal
21)
Question Stimulus :-

The verbal part of a brand. The part that can be spoken or written is known as / U® S8 BT nfae e %I dg
R, fr dier ar frar o A @, & AT A ST 1T g

e Brand name /siS A
e Brand mark /&8 AR
e Logo /@R
e Patent/Ue<
Correct Answer :-Brand name / 1S -TTH

22)



Question Stimulus :-

coordinates a complex set of activities to accomplish important non-recurring goals /

, TEdYUl 3FTad! d&dl B [T H1 & o nfafafRrt & e wifed Ae &1 qurieH FRar gl
Programs/aﬂ'dﬁ'm)f

Budgets / ISl

Process / UshH
Rules / fFras

Correct Answer :-Programs | PTAHHL

23)
Question Stimulus :-

Profits , sundry credit, sundry debt and the like can be measured through / €TH, fafey AeR, fafdy 3AeR

3R 7 THH ¥, & "1y | ATfYa Py o wed 31
¢ Financial Control system / fo=ita for=or yomrent
e Inventory control system / W feri=roT Yot
e Budgetary Control system / gord g fa=vr yorrett
¢ Quality Control system / J[OTd<T feri=roT Yot
Correct Answer :-Financial Control system / o=t fori=or yomrent
24)

Question Stimulus :-

Process of designing and maintaining environment in which individuals working in groups efficiently employ

resources is called . /W%Waﬁ?mﬁaﬁm,mﬂ%}ﬁmm?%m
SYAAYdP AU BT TN H IR e &, HgaEI gl

Good working relationship / dgaY Pd " Y

Management / PELE
Individual System / AT YUTET

Maintenance / ¥T9-¥3MTd

Correct Answer :-Management / &=
25)
Question Stimulus :-

Capital invested by the owner is shown as a liability in the balance sheet due to in accounting. /

amg)——rﬁ & golg & "R gRT Faw it 1€ §6ft &t 3w 2ie & oo 37er & =u A e
T B



e separate entity concept / YYD Hcd SMTYRUIT

e going concern concept / FATH-UTASSH LRI
e cost concept / T AYRUI

* money measurement concept / JKTHTUT IdYRUIT

Correct Answer :-separate entity concept / YU Hed SITYUIRUI



